- S 167 1 1

Total No. of Questions — 24 Regd.
Total No. of Printed Pages - 4 No.

Part - III
MATHEMATICS, Paper -1 (A)
(Telugu Version)
Time : 3 Hours] [Max. Marks : 75

QY : & (SE3B0S" A, B, C &5 08 DgrHsmesTmyon.

SECTION - A 10x2 =20
L “od 30y Sarees @ ev.
@) Oy (PFHO T [FETOR0D[W.

(i) 85, (%)% Sotb Srtoe.

1. f@)=2x-1,g0% % V xeR @008 (gof) (x) $08%04&.

2. £={1,2)(@2 -3), (3, -1)} wond @i)2f (i) f2 550808,

1 8 -8
3. A:{ 2 -1 5} 0NB &*CéAS?éagebo&.
2 0 1

012
4. A=[1 2 3| 3 50804,
A |

5. 'a":2?+5]*+E,E=4¥+m3"+n§m:<>8®cmmr§§a m, n O

50804,
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II.

6. (0,0,0), (0, 5 0), (2, 0, 1) OO KOG HGH SosD SEESEHD
5508904
. F-@I-7+20)=3, T- 37+ 6] +K) = 4 sero 50655 Seosin 508908,
. tan 160°—tan 110° 132
8. tam 20° = A ©00d 1+ tan 160° tan 110°= 21 &9 irod.
9. Tcosx—24sinx+5 BT S0l
10. (cos hx — sin hx)® = cos h(nx) — sin h(nx) @ SrS508.
SECTION - B
“B50y” DIIGS (3o | 5x4=20
() O3 2 (%0 SErErssve @rabod. |
(1) ©3S (PEH Tresid SE)L0.
11. A= [ oo sl }@Q}:éAA'=A'A=I®§JﬁJ%o&,
— 81N CosQ _
12. 81 -2j -k 21 + 3] — 4k, -1 + 7 + 2k, 47 + 5] + Ak, BOFoR TN
| — 146
SOFer Ko Hothpen STPATS A Do —1- o HrSod.
18. a=1+2]-kb=21-7 + 2k o e gbmreon Ko 550088 St

BoT Do, Progn BEed.

[2 of 4] 167



RO S S

— + gind + aind + gind — —
14. sin g T 8m® g+ sin g *sin®g

b [co

® rSod.

15. 7sin?20+ 3cos20=42 FOOS0A.

HerdH Iavod.

1 1 1
16. tant 5+ tan™! 5+ tan! 8=

WA

17. cot %’ cot % cotg @ AP. & &0 a, b, cey AP & SOLTAHD

rNod.

SECTION - C
L “Qg” Suirgs SHe. 5x7=35

1) O3 2% (PHOD JIrEES0e @Fanod.
i) &85, SHO D ety
18. (a) f(x)= ff—ll- (x ;1) @owd (fofof) (x) Dens 59804,

(b) f:A->B,g:B>C58cvh:C oD $asr83 ho(gof) = (hog)
of & SrS50d.

19. Hederonsos IGA &3BrAod n O 53 JPTOY DewSeH 497 + 16n — 1 9
64 ZPARQYOE SFSoA.
a®+2a 2a+1 1

2a+1 a+2 1
3 8 1

20. = (a—1)% @ SrB0d.
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21.

22.

23.

24.

x+y+z=1 2 +2y+32=6,x+ 4y + 9z= 3 SDEGes SESPD (5706

;’)COS@ &APAON FHOWOG.

FT=(61+2] +2K)+t(3-27 +2k),

T=(41-k +s(@3i-2j- 2k 5003 &y Opo D55 55 Sroedy

§m§°boc;‘..

T

A+B+C=§ 9003, cos 2A + cos 2B + cos 2C = 1 + 4 sinA sinB sinC

299 SrHod.

r+r3+r1—r2=4RcosBe£af\')ﬁ3°;’)Oé.
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